normalized X?

[ normalized x? probability |

G R— G
Entries 1995 Entries 1995
10*1 Mean 114 Mean 0.4273
Std Dev 0.5009 = |Lstd Dev. 0.3108
Chiz. I Chiz_prol
2 Entries 1995 ntries 1995
10 Mean 1.14 Mean 0.4273
Std Dev 0.500! Std Dev 0.310:

107

13 : : : : : : : : : 1
09¥0—2"4 6 8 10 12 14 16 18 20 09%970.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
X? Prob(x?)
N ﬁ_
T F : : : :
R b CARREE S P e
=< F : : : : :
\% ]
I: 1
1.4~ | === DpQM_Vv0001_R000000001__Global__mkFitOLD__RECO

1 2-__ === DQM_V0001_R000000001__Global__mkFitNEW__RECO

1
0.8f
0.6F
o s
T
x
1
0.95
A A E
2 2 18k
% < 1.6F-
\Y \Y E
1.4~
1.2F
-
E 0.8f-
1.2 F
o 0.6
il E
E 0.4F
0.8~ F
o 0.2
0.6~ F
o v o QF
© T
@ @
1= 0.5
o 1 1lo 1(l)2 0 10° — 1072 1071
&T AR(track, jet?



	Contents
	Page 1


